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However if he gave and she said, etc. — 212 X7 779%R) K177 301 N7

OVERVIEW

The &n»12 stated that proper Pw17°2 is when the man gives the money and
says °? NWTpPn NR *777; however if she gives the money and states I am nw7pn
to you then there is no PY17°p. X959 21 questions that there is a contradictory
inference here concerning X7 777X X177 101 (from the X1 it seems that it no
IR, but from the X9°0 it seems that it is a valid PwI7p). Our M0N0
explains why X595 27 did not mention the other case of X7 X1 X7 7101.

mooIn explains; the reason why X955 17 -
—'NY 99N NOD DIN3 993 99910 KW A

Did not mention at all the case of X7 9%RY %7 /7303, that is -
a0t 91 IDPY 9INTD 12N DTN NUNHPN DIIYST 1YY NPID KT DIUN

Because it is not clear cut, for occasionally she is nw7pn, if the man was
a prominent person as the X7n) states later.

SUMMARY
In a case of X377 77X X771 7101 she is nwTIPH if he is an 21wn 07X, Therefore 27
X995 did not mention it.

THINKING IT OVER

According to the explanation of N190IN what is the contradiction that X955 27
poses? The Xn>72 wanted to state the cases where she is either always
nwMpn or always not nwTpPn, therefore it had to state the she always nwTpn
by X177 7972R) X117 101 (because by X317 972X X7 7101 she 1s [usually] not nwmpn);
similarly in the &9°0 it had to sate that she is never nwTpn by 72X X7 7101
X°71 because by X7 7R X°7 77101 she is occasionally nwTpn if he is an 27X

Wn !4

! x99 21 could have just as well shown the contradiction in a case of X7 X1 X717 77103, that from the X" it
would seem that she is not nwTIPn (for only X177 X K17 101 is it a valid 1w17°p) and from the ¥5°0 it appears
that she is nwTPn (for only by X*i7 777K X°7 77101 is there no 7"W17PR).

? Therefore 5" could not point out this contradiction, for perhaps the X" mentioned X171 X1 K17 13
because it wanted a case where she always nwTpn; however X177 92X X7 71103 she is not NwTIPn by a regular
person. Similarly in the X5°0 he mentions only NWTPn A°K X°7 772K X7 7101 because by X177 MR X7 7101
there is a case, by an 27wn 07X, where she is nwmpn. See “Thinking it over’.

? The X1 there explains that she is nwTpn with the 7837 that she receives from the 21wn 27X by him giving
her the pleasure of accepting her gift.

4 See w"R7 MdoIN. See also 0" and WaMw W'Y MAAT.
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